KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THRET(AF)a—K ITHET(KF)8  #HEH O 1M 2m 3 4® 5S% 6 7m 8 9

10 HAT 151 2 0 1 3 4 0 2 7 0 2
20 fE&LET 151 3 2 2 4 2 3 6 3 1 7
30 @M 226 1 2 2 4 2 4 2 1 3 6
40 SRET 95 0 0 0 0 1 1 0 0 2 2
50 KET—T B 289 0 3 3 4 1 3 2 1 2 2
60 KET=TH 216 2 3 3 3 4 0 9 0 2 7
70 RET=TH 300 1 1 2 3 7 1 0 4 3 3
80 AT IEHET 84 0 4 2 2 1 2 1 1 2 0
90 PN I ET 191 0 2 0 4 1 3 2 1 2 6
100 b ALET 115 0 1 1 1 1 2 2 1 1 3
110 T HT 1133 16 22 30 18 31 24 19 28 271 33
120 ¥A;TAHT 204 3 6 6 5 2 5 3 5 5 3
130 t&FHT 342 3 3 4 3 6 5 3 5 8 6
140 EH[E M7 12 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 307 9 2 7 6 5 8 6 3 5 3
9999 KB XEt 3816 40 51 63 60 68 61 57 60 63 83
510 AETHT B 397 4 1 4 2 1 4 2 4 7 2
520 HpEEMT 119 4 3 2 0 5 2 5 2 0 2
530 /\F&EHET 230 2 1 1 2 1 2 1 1 1 2
540 15 HT 393 3 2 3 3 2 2 8 2 5 2
550 FithET 336 4 4 1 3 5 5 0 6 4 10
560 = ZLHT 95 0 1 0 1 0 0 0 0 0 0
570 EEHT 67 1 1 3 1 3 3 2 1 1 0
580 #rBHET 158 3 1 1 2 2 1 3 1 3 0
590 FriEMT 76 1 0 0 0 0 2 0 0 1 0
600 ZEARET 520 5 1 5 9 5 9 13 12 7 12
610 JEHT 170 0 1 1 3 0 3 1 1 5 2
620 FEBET—T B 2 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 6 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 2569 27 16 21 26 24 33 35 30 34 32
1010 X HT 165 1 1 3 1 4 2 0 4 4 3
1020 Lt FHT 277 4 4 10 7 3 5 7 8 6 3
1030 & /T HT 274 3 9 8 5 9 8 3 8 8 4
1040 75 K HT 476 11 13 11 15 13 11 20 13 12 10
1050 = HHET 597 15 9 13 8 14 11 13 11 15 15
1060 FH _EHT 506 10 10 20 10 16 19 8 11 11 12
1070 4T/ HET 631 11 12 9 17 7 11 14 9 16 10
1080 & HHET 363 14 8 12 8 6 9 3 9 7 12
1090 BHiEHT 516 10 8 11 7 13 6 15 12 13 14
1100 £ BEHT 533 8 13 12 16 18 12 15 13 15 10
1110 f21EHT 156 2 4 1 1 5 3 8 6 3 2
1120 #Z1E JCHT 82 1 0 0 0 0 0 0 2 1 0
1130 +5&HT 24 0 0 0 0 2 1 0 0 0 1
1140 Fk[RHET 14 0 1 0 0 0 1 0 0 0 0
1150 #/RET—T B 179 0 2 1 3 2 3 4 2 3 4
1160 #EET=TH 220 2 1 1 3 3 1 4 4 7 4
1170 ;& /KHET 168 1 2 0 2 1 2 2 1 1 3
1180 EE&FLHET 219 3 0 3 1 5 3 4 3 5 5
1190 ##F AHT 182 1 8 3 2 5 3 1 3 4 2
1200 XFHET—TH 117 0 0 2 1 2 1 2 1 2 1
1210 XFHEIZTH 168 1 1 1 2 3 2 2 1 7 3
1220 FrHT 145 1 1 4 1 0 0 0 1 2 2
1230 #XHET 163 0 1 3 1 1 2 4 2 3 2
1240 B EHT 144 2 1 0 1 2 3 3 3 2 4



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THRET(AF)a—K ITHET(KF)8 #HEH O 1M 2m 3 4% 5S% 6 7m 8 9

1250 fEEHET 145 3 1 3 1 2 1 1 1 0 3
1260 JEFh & 40 0 1 1 2 1 1 0 1 0 0
1270 EEHT 160 2 3 2 2 2 1 1 1 0 0
1280 FRAHET 165 0 1 0 0 1 1 1 1 4 3
1290 $RHET 186 0 1 3 0 1 5 2 2 4 4
1300 4 ZEHT 148 0 1 3 2 1 2 1 2 1 4
1310 RJLHET 79 0 2 2 2 1 0 0 0 1 0
9999 K HEMZXET 7242 106 119 142 121 143 130 138 135 157 140
1510 A& _E BT 633 11 10 9 6 12 14 12 16 11 9
1520 HEHTHET 613 4 7 5 11 8 8 12 10 8 11
1530 }EHTHT 303 3 4 2 2 6 6 5 3 8 2
1540 K4EFHT 507 5 8 7 8 9 5 7 9 5 12
9999 FEMNA: X 5 2056 23 29 23 27 3 33 36 38 32 34
2010 EE AT 197 1 3 3 4 1 6 2 2 5 5
2020 %= EFGHET 280 0 2 1 3 4 13 9 6 12 8
2030 AT 20 0 0 0 0 0 0 0 0 1 0
2040 ;ET—T H 190 3 1 1 2 4 1 1 4 6 6
2050 BT =T B 188 1 1 3 4 4 2 2 3 2 2
2060 ¥g AT 34 0 0 0 0 0 0 0 0 0 0
2070 FxEBT—TH 224 1 3 6 7 8 4 12 6 7 3
2080 FRET—TH 186 2 3 1 1 2 3 1 1 4 4
2090 THiRAT 1601 18 19 16 15 24 20 29 31 23 26
2100 Hr it ET 225 7 4 7 7 4 7 2 6 9 5
2110 }EWIETET—T B 205 6 1 4 5 6 5 4 10 2 4
2120 HEMIFTETZT B 234 6 7 2 10 5 6 7 7 6 7
9999 £ ERXET 3584 45 44 44 58 62 67 69 16 77 170
2510 FAMEET 1887 39 46 28 31 41 41 38 51 53 47
2520 sk EeHT 1184 23 23 22 27 32 3 33 30 38 30
2530 = /INRHET 366 6 11 15 9 9 9 9 6 2 6
2540 FHi5HT 435 3 3 1 7 4 5 10 2 6 7
2550 ;HHET 208 5 5 2 2 4 1 3 5 11 7
2560 = SHT 866 10 14 10 15 10 17 12 16 13 15
2570 K EHT 82 0 0 1 0 0 1 1 0 2 1
9999 ME R X ET 5028 86 102 79 91 100 109 106 110 125 113
3010 KATHT 942 18 15 16 16 17 20 17 11 11 16
3020 ;BT HT 863 18 11 20 10 9 16 23 17 16 11
3030 _EFHET 684 9 16 7 11 21 16 21 16 15 16
3040 &S _LHET 134 1 0 0 2 0 1 3 1 3 1
3050 THESHHT 20564 59 56 50 68 59 64 47 55 44 50
3060 BN THET 467 5 8 3 6 6 5 4 6 3 7
3070 HEAEAT 438 3 6 6 6 8 5 11 5 11 6
3080 H AT 364 6 7 8 7 10 17 14 15 15 12
3090 HHEHT 371 11 8 12 6 8 12 1 14 13 12
3100 EH R FEHET 502 3 10 8 8 13 9 6 10 8 7
3110 EHAILHET 422 5 3 9 5 5 7 6 6 4 7
9999 /\FHERXET 7241 138 140 139 145 156 172 163 156 143 145
3510 27 _FHT 173 1 3 2 2 2 5 0 0 2 4
3520 &R T 337 3 6 2 4 2 7 3 6 5 5
3530 27 THT 894 17 13 17 19 15 26 27 23 24 20
3540 =B KHT 316 2 3 3 6 2 3 2 4 2 6
3550 AEFHT 725 4 7 10 15 7 10 8 16 9 15
3560 = T B HET 282 5 2 3 3 1 0 3 1 4 5
3570 = T AT 784 16 12 16 8 15 12 13 12 12 9
3580 FLIFTHT 554 9 5 7 9 8 8 12 5 6 11



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THRET(AF)a—K ITHHET(KF)8 #HEH O 1M 2m 3m 4% 5S% 6 7m 8m 9

3590 JEMT 18 0 0 0 0 0 1 0 0 0
9999 S HKXE 4083 57 51 60 66 52 72 68 67 64 7
4010 41| RET 300 1 2 0 1 2 3 4 2 3
4020 {E&HT 73 0 0 2 1 2 1 1 1 0
4030 5HT 193 2 5 2 3 1 1 3 3 1
4040 = HEAHT 170 1 2 3 1 4 1 3 7 0
4050 7K EHT 373 2 1 6 1 5 8 5 3 12
4060 E5Z HAT 343 5 6 5 11 5 4 7 4 5
4070 JtJRHET 147 3 4 2 6 1 7 2 2 2
4080 =;T;HAMT 169 2 2 4 1 3 3 6 4 7
4090 FR ek HET 267 3 2 4 5 1 8 1 3 7
4100 g FEFOET 113 3 2 0 5 1 4 3 1 2
4110 JEFF0ET 115 0 1 1 1 2 1 5 1 6
9999 2RI X st 2263 22 27 29 36 27 41 40 31 45 3
4510 EREE—FHET 723 6 4 5 6 3 3 9 4 10
4520 EREE — AT 149 1 4 2 0 2 1 2 2 5
4530 EREE=ZEHT 161 1 3 2 2 3 4 5 8 3
4540 B} EErUZEET 157 2 2 0 4 1 3 1 3 1
4550 EREE FFHT 98 1 1 0 0 0 1 2 2 1
4560 AREE/EHET 69 1 0 1 1 1 1 4 0 3
4570 EREE-HZFHET 114 3 0 0 2 1 1 0 2 1
4580 AREE/\ZEHT 72 0 0 0 1 0 2 3 1 2
4590 EREE N FEHT 116 1 1 1 2 2 3 1 1 2
4600 EREE-+ZEHET 166 1 3 1 1 2 1 2 1 1
4610 EREE+—ZHT 163 3 2 2 3 1 2 2 3 0
4620 B+ —FET 279 6 9 6 4 3 3 4 0 3
9999 ERERXET 2267 26 29 20 26 19 25 35 27 32 2
5010 BRF0H £ HT 156 3 2 4 4 2 4 1 6 1
5020 BAF0BAELET 165 0 2 0 4 0 2 0 3 3
5030 FRFNREI{—HT 169 3 3 3 1 2 3 1 2 3
9999 AFIAXET 490 6 7 7 9 4 9 2 11 7
5510 b RHET 205 0 4 2 3 7 1 5 5 4
5520 = HhHET 537 11 12 9 9 1 14 14 10 7 1
5530 75 = /T 460 7 4 6 3 6 5 5 9 6
5540 T EERT 226 1 2 3 3 2 7 2 3 3
5550 EEHET 69 0 0 0 1 0 1 1 0 0
9999 =R X 5t 1497 19 22 20 19 26 28 27 21 20 2
6010 [EIHAT/MER 77 0 0 1 0 1 2 1 1 2
6020 [T 87 2 2 0 2 1 0 0 2 0
6030 FEIRT &I 87 0 2 0 1 0 1 0 1 3
6040 EiEIFHET 181 2 2 1 4 1 4 2 5 7
6050 JI|EHATE 131 1 0 1 0 1 1 1 0 2
6060 JI|EHETF 94 2 1 0 5 1 0 0 3 0
9999 FEEMRXET 657 7 7 3 12 5 8 4 12 14
6510 H X A#EAHT 21 0 0 1 0 1 0 1 1 0
6520 HZEAKIEHET 165 2 2 1 1 3 1 0 3 0
6530 B E AFTHHET 98 0 1 1 2 0 1 1 1 0
6540 B&EALLTHT 155 0 2 1 0 0 0 3 3 0
6550 B E A Z NET 83 0 0 0 1 1 0 1 2 0
6560 HRAIEILHET 123 1 0 0 1 0 0 0 2 0
6570 A=A EgHT 146 1 1 0 1 1 0 0 0 0
6580 H&EAEHT 96 1 0 1 2 2 0 0 0 0
6590 HZ= ATHET 53 0 1 0 1 0 1 0 1 0
6600 B &= AT 87 1 0 1 1 1 1 0 0 0

- OO0 0O -~ WNP,MPOI—LO0O0W—=-—= =0 WOWOUOWOUNMNMNOMNN—_LWN—-= =" DN,MPOCOCODAA-"LDDNWWIDDPL—=-WOUu O



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

AT (AF)a—K ITHHET(KF)%  HEH O 1M 2m 3 4% 5% 6 7m 8 9

6610 HEA _LFEHT 45 1 0 1 0 0 1 0 1 0 1
6620 HZE AT 49 0 0 0 0 0 1 1 1 1 1
6630 HZE A T FGHET 93 0 0 1 0 1 1 1 0 1 1
6640 B &= A EitslT 34 0 0 0 0 0 0 1 0 0 1
6650 B ZASHET 1 0 0 0 0 0 0 0 0 0 0
6660 HZ A RLHET 52 0 0 0 0 0 0 0 0 0 0
9999 HEARKKXET 1301 7 7 8 10 10 7 9 15 2 15
7010 — &M O HET 145 0 1 2 1 1 0 2 1 2 0
7020 — RAHT 248 0 0 4 0 1 3 2 0 4 3
7030 = R IRHNET 99 0 0 1 1 0 0 0 1 1 1
7040 — R T KEFHT 186 0 1 0 1 0 1 0 1 0 0
7050 — R ¥y H I HET 93 0 0 0 0 0 0 0 0 1 1
9999 — R&XEt 771 0 2 7 3 2 4 4 3 8 5
8011 IRAETFEHERLY 58 0 0 0 0 1 0 0 0 0 0
8012 R AHTFAERA 119 2 0 1 1 1 0 1 0 0 0
8013 YR AHTFEER (& 64 0 1 1 0 0 0 1 0 1 1
8021 IRAHTIZEKLY 79 0 0 0 1 0 0 1 0 1 1
8022 IR AHTIEKA 5 0 0 0 0 0 0 0 0 0 0
8023 IR AHTIEKIL 8 0 0 0 0 0 0 0 0 0 0
8031 YAHETH ALY 140 0 0 0 2 0 1 0 1 2 1
8032 IRAHTHA A 7 0 0 0 0 0 0 0 0 0 0
8033 FAHETH AL 16 0 0 0 0 0 0 0 0 0 0
8041 IR AHTELIRL 62 0 0 0 0 0 0 0 0 1 0
8042 IR AHTELIRA 26 0 0 0 0 0 0 0 0 0 0
8043 IR AHTELIR L 18 0 0 0 0 0 0 0 0 0 0
8044 IR AHTELIRIC 25 0 0 0 0 0 0 0 0 0 0
8045 IR AHTELIR (X 48 0 0 0 0 0 0 0 0 0 0
8050 i AHTHRA 130 0 0 0 0 1 0 0 0 0 0
8060 IR AHTFT#E 102 0 0 1 0 2 1 0 0 1 1
8070 JRABTER 106 0 0 0 0 0 1 0 0 0 1
8080 Ik AHT &k 42 0 0 0 0 0 0 0 1 1 0
8090 IR AHTHEE 34 0 0 0 0 0 0 0 1 0 0
8100 R ABTH /1% 18 0 0 0 0 0 0 0 0 0 0
8110 IRAHTJII 5 39 0 0 0 0 0 0 0 0 0 0
8120 IR AHETEEM 67 0 0 0 0 0 0 0 0 0 0
8130 IR AHTH L 66 0 0 0 0 1 0 0 2 0 0
8140 IRAHBTHFRKT 102 0 0 0 0 0 0 0 0 0 1
8150 IR ABTEFRK L 80 0 1 0 0 0 0 1 0 0 1
9999 AKX 5T 1461 2 2 3 4 6 3 4 5 7 7
9010 FTHTAKEH 537 10 10 14 7 8 7 15 8 6 10
9020 FTHTEE R 322 4 12 7 4 9 7 8 7 5 2
9030 +THTHEH 973 21 26 31 40 33 31 43 34 35 28
9040 FTHTHEIH 1096 14 15 8 17 21 30 22 28 26 21
9999 FT X5t 2928 49 63 60 68 71 75 88 77 72 61
9110 SRETTTH % 466 7 9 7 8 10 9 5 9 10 11
9120 SFETH L 224 0 1 2 2 4 1 3 1 7 2
9130 $EHTH & 113 0 3 2 2 2 2 0 4 6 1
9140 $RAT T4 341 6 5 5 4 5 8 4 4 8 10
9150 $RHT L§% 444 4 9 6 11 6 5 9 6 12 7
9160 SRETERHT 634 7 10 15 11 11 14 11 17 23 18
9170 $RATNEA 839 7 15 17 14 20 15 20 21 20 15
9180 SEMETEE 534 8 5 7 8 13 8 10 10 9 10
9190 $ERTZ O 182 2 1 1 2 2 1 5 4 4 7
9200 5 ET Fr 5 164 4 1 2 1 2 4 4 3 3 2



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THRET(AF)a—K ITHHET(KF)8  #HEH O 1M 2m 3m 4% 5% 6 7m 8m 9

9210 $EHET = H 309 4 1 3 7 6 7 4 2 6 6
9220 $EHT 7 H 477 6 7 11 8 11 11 12 11 11 9
9230 $EHTE M 562 8 9 6 13 12 13 9 14 10 16
9240 $EHETIEE 215 2 3 5 4 4 6 3 2 6 4
9250 % HT At #r b 432 4 6 8 6 7 10 8 8 7 14
9999 S XET 5936 69 85 97 101 115 114 107 116 142 132
9310 E[FHET:AR 180 2 1 2 0 1 1 2 0 2 1
9320 H[SHETIL 185 3 0 3 2 1 1 1 2 2 3
9330 H[SHET/INE 122 1 0 1 0 1 0 1 2 1 0
9340 R [ZHTR 328 1 4 4 2 7 5 3 6 7 4
9999 R[GHXET 815 7 5 10 4 10 7 7 10 12 8
9410 RET T & 302 1 3 2 3 3 3 5 4 2 6
9420 RHETHHE 205 0 0 0 1 0 0 0 0 1 0
9430 RETFER 134 0 0 0 1 0 1 0 1 0 1
9440 RETAEF 13 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 20 0 0 0 0 0 0 0 1 0 0
9460 RET{—_HE 27 0 0 0 0 0 0 0 0 0 0
9470 RETEXR 7 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 44 1 0 0 0 0 0 1 0 1 1
9999 RIXXEt 752 2 3 2 5 3 4 6 6 4 8
99999 &t 56757 738 811 837 891 938 1002 1005 1012 1060 1038



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

10 HAT 1 4 1 0 1 2 2 2 4 0
20 fE&LET 3 6 3 0 5 4 3 3 1 3
30 @M 6 4 4 2 3 5 2 2 3 2
40 SRET 0 1 1 3 1 1 3 0 1 0
50 KET—T B 3 2 1 4 0 1 3 2 3 4
60 KET=TH 1 3 2 4 1 3 1 2 3 0
70 RET=TH 5 3 4 4 6 5 3 7 5 4
80 AT IEHET 2 0 0 1 0 0 0 1 0 1
90 FEHATIRAT 2 4 2 2 4 3 1 0 1 3
100 b ALET 2 4 3 1 4 3 3 1 2 1
110 T HT 31 30 28 27 34 24 26 20 34 26
120 ;T AHT 4 6 2 3 11 2 8 5 7 3
130 #&FHT 5 9 3 5 7 10 6 5 7 8
140 EH[E M7 1 0 0 1 0 0 1 2 4 0
150 1 FFrHET 4 5 5 5 4 6 7 9 8 5
9999 KB XEt 70 81 59 62 81 69 69 61 83 60
510 AETHT B 1 1 5 10 5 10 3 7 3 8
520 HpEEMT 4 3 1 6 4 5 3 3 7 2
530 J\It&HET 6 4 5 4 4 3 5 3 2 3
540 15 HT 2 7 3 12 5 2 8 7 10 9
550 FithET 5 3 7 4 7 12 8 9 15 4
560 = ZLHT 0 1 0 0 1 1 1 0 0 0
570 EEHT 1 0 2 2 2 0 3 2 2 1
580 #rBHET 1 1 1 1 1 3 2 0 1 0
590 FriEMT 0 0 0 0 0 0 0 0 0 0
600 ZEARET 17 15 11 19 6 18 9 9 10 11
610 JEHT 2 3 2 0 1 5 2 2 1 2
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 39 38 37 58 36 59 44 42 51 40
1010 R HHT 3 1 3 5 2 4 6 3 2 2
1020 Lt FHT 6 6 9 8 7 5 5 7 3 6
1030 b HT 10 9 9 8 3 10 10 12 5 10
1040 75 K HT 6 10 14 11 7 10 8 14 8 7
1050 = HHET 17 17 10 9 20 10 12 21 11 11
1060 FH _EHT 9 11 8 15 9 18 12 6 11 11
1070 4T/ HET 17 10 11 14 11 16 10 10 20 7
1080 & HHET 4 10 3 8 6 7 7 8 7 7
1090 BHiEHT 13 7 12 18 8 8 9 13 10 5
1100 £ BEHT 15 15 17 16 18 10 8 13 18 8
1110 f21EHT 6 2 4 2 3 2 1 4 5 5
1120 #Z1E JCHT 1 1 2 0 0 2 0 0 2 2
1130 +5&HT 0 0 0 0 1 0 0 1 0 0
1140 Fk[RHET 1 0 0 1 0 0 0 0 0 0
1150 #/RET—T B 4 1 3 1 2 0 5 2 4 3
1160 #EET=TH 1 2 3 2 1 2 4 5 3 3
1170 ;B/KHET 4 2 3 2 3 4 2 1 3 1
1180 EE&FLHET 4 4 2 3 4 1 4 3 2 3
1190 ¥ F AHT 1 3 2 2 3 2 3 5 3 2
1200 XFHET—TH 1 2 0 2 2 0 1 3 1 2
1210 XFHEIZTH 0 2 5 6 5 3 1 1 3 5
1220 FrHT 4 3 4 3 2 2 6 2 3 3
1230 #XHET 2 1 0 4 0 1 2 3 5 0
1240 B EHT 1 0 4 2 2 0 3 1 3 5



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

1250 fEEHET 0 4 2 0 1 4 2 0 2 1
1260 B & 0 0 0 0 0 0 0 0 0 0
1270 EEHT 0 1 0 2 1 2 0 1 0 3
1280 FRAHET 0 4 0 3 3 2 3 0 5 2
1290 $RHET 1 1 3 4 1 2 0 2 3 2
1300 & EEHT 2 2 1 2 2 2 1 3 1 5
1310 RJLHET 0 0 1 1 0 1 1 0 1 1
9999 K HEMRXET 133 131 135 154 127 130 126 144 144 122
1510 A& _E BT 19 16 18 13 21 19 15 13 24 6
1520 HEHTHET 11 9 13 11 18 14 8 12 14 13
1530 }EHTHT 9 4 7 6 5 2 6 7 3 5
1540 K{Z3FHT 8 3 11 9 6 9 2 10 4 10
9999 FEMNA: X 5 47 32 49 39 50 44 31 42 45 34
2010 EE AT 7 4 10 4 6 4 4 6 2 2
2020 % E gl 7 7 6 3 4 5 6 8 5 4
2030 E0HT 0 0 1 0 0 0 1 1 0 0
2040 :NET—TH 3 6 1 5 5 2 5 3 5 2
2050 BT =T B 2 4 1 4 1 2 3 3 6 2
2060 gt ET 0 0 1 1 1 2 0 1 1 1
2070 FxEBT—TH 4 2 3 3 2 4 3 6 3 6
2080 FRET—TH 2 4 1 3 2 3 5 6 2 4
2090 THiRAT 28 35 32 35 42 32 35 28 31 31
2100 fhdLHT 4 6 4 7 4 6 1 4 4 7
2110 }EWIETET—T B 4 3 1 2 2 4 6 3 5 7
2120 HEMIFTETZT B 9 8 6 7 6 5 9 3 2 3
9999 £ ERXET 70 79 67 74 75 69 78 72 66 69
2510 FAMEET 51 60 64 72 67 56 62 74 50 48
2520 sk EeHT 30 33 40 34 26 25 40 25 39 36
2530 = /INRHET 10 1 6 7 10 8 4 10 7 5
2540 FHi5HT 5 4 4 6 2 3 6 7 6 5
2550 ;HHET 5 3 4 0 2 2 4 1 4 5
2560 = SHT 19 20 14 26 14 16 19 16 22 15
2570 K EHT 3 0 1 2 3 5 1 1 0 1
9999 ME R X ET 123 121 133 147 124 115 136 134 128 115
3010 X#FHET 16 20 21 19 17 21 21 13 26 14
3020 ;BT HT 17 16 18 14 15 22 18 23 25 17
3030 L EFHT 15 18 13 14 22 14 16 17 18 14
3040 &S _LHET 1 2 0 2 2 1 1 2 3 2
3050 B AT 41 44 53 45 52 46 46 49 54 40
3060 BN THET 9 5 4 10 7 10 5 6 8 8
3070 THESEHT 9 9 2 7 7 8 8 8 5 8
3080 H hHT 19 13 8 8 10 8 6 12 9 4
3090 HHRERHAT 15 7 15 7 8 9 8 9 10 9
3100 EH R FEHET 9 5 7 7 10 3 8 5 9 3
3110 EHAILHET 3 5 8 5 12 5 7 6 10 3
9999 /\FHERXET 154 144 149 138 162 147 144 150 177 122
3510 27 _FHT 2 1 2 1 1 0 4 2 1
3520 £ R chfT 4 3 4 4 2 5 6 7 6 7
3530 &R THT 14 21 11 14 22 14 12 17 18 15
3540 =B KHT 5 8 6 4 8 4 7 8 6 6
3550 AEFHT 11 15 13 13 18 10 14 11 11 12
3560 = T B HET 4 4 3 2 5 5 5 6 6 4
3570 = T AT 8 7 11 13 11 8 7 13 15 10
3580 FLIFTHT 7 6 8 7 7 8 7 5 7 18



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

ARET (K a—F THRET(KF)& 108 11E 12 13@ 14 15 16 17 18 19
3590 EHT
9999 EHKXET 5
4010 41| N ET
4020 &S HT
4030 5HT
4040 S HEAHT
4050 7K EHT
4060 E=Z HHET
4070 JtJRHET
4080 =;I;HAfT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET 3
5010 BRF0H £ HT
5020 FAF0BAEET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET 1
5530 F4'= HT
5540 wy ZEmT
5550 EEHET
9999 =R X 5t 2
6010 [EHT/NEE
6020 [EHT 4
6030 FEBTA I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 FEERXET 1
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
6590 HZ= ATHET
6600 B &= AT

6 5 5 7 6 7
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(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5
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2090 THiRAT 22 29 24 30 26 31 27 33 35 36
2100 hiLHET 5 7 5 6 6 13 8 5 3 8
2110 }EWIETET—T B 4 6 2 4 5 4 2 7 7 1
2120 HEMIFTETZT B 3 4 6 5 5 7 2 2 8 8
9999 £ ERXET 52 70 64 68 69 88 66 77 79 91
2510 FAMEET 38 37 46 52 49 53 66 41 38 38
2520 sk EeHT 23 22 29 33 38 31 26 41 43 30
2530 = /INRHET 14 10 9 13 13 10 7 7 7 9
2540 FHi5HT 4 6 6 7 10 4 4 4 4 3
2550 ;HHET 5 5 4 6 7 6 2 6 7 7
2560 = SHT 12 14 11 20 14 20 13 22 18 27
2570 X &HT 1 1 0 0 0 0 1 0 2 1
9999 ME R X ET 97 95 105 131 131 124 119 121 119 115
3010 X#FHET 17 13 13 18 12 20 22 25 14 26
3020 ;BT HT 26 14 17 17 20 23 39 21 23 21
3030 L EFHT 15 17 12 9 19 20 25 11 15 17
3040 &S _LHET 2 1 3 1 3 2 1 3 4 4
3050 B AT 57 45 48 67 53 62 69 74 76 60
3060 B THT 5 5 9 5 6 11 5 9 5 15
3070 THESEHT 5 8 12 11 7 7 11 6 11 8
3080 H AT 10 4 11 7 13 18 9 10 18 15
3090 HHEHT 7 9 4 11 16 10 1 14 12 11
3100 EH R FEHET 11 15 12 14 13 11 10 17 17 11
3110 EHAILHET 7 14 10 6 5 7 10 11 8 8
9999 /\FHERXET 162 145 151 166 167 191 212 201 203 196
3510 27 _FHT 3 1 3 1 3 2 1 2 3 3
3520 £ R chfT 4 6 7 1 6 7 5 8 3 5
3530 27 THT 22 28 22 24 14 29 15 26 20 25
3540 =B KHT 4 2 4 6 1 5 5 4 2 2
3550 AEFHET 10 15 8 14 11 15 10 13 15 14
3560 = T B HET 2 2 3 5 7 4 3 6 4 5
3570 & T AafT 16 19 11 14 22 17 13 23 6 17

3580 ¢ LLITHT 10 16 9 12 10 15 13 6 10 10
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—FK {TEET (K=FE)E 303 31/ 323 33m 34 35 36@ 37% 38 39

9210 SFET=EH 9 7 5 8 4 10 7 5 7 9
9220 SxETHH 3 17 6 12 7 8 6 10 16 6
9230 $EHTE M 11 8 12 20 14 15 18 20 11 13
9240 $EHETIEE 3 8 5 4 7 6 3 4 8 6
9250 % HT At #r b 6 10 21 19 20 7 13 17 19 22
9999 S XET 99 121 112 141 121 118 128 148 155 167
9310 E[FHET:AR 0 3 2 0 2 1 2 1 0 1
9320 H[SHETIL 3 1 1 3 1 2 2 1 3
9330 H[SHET/INE 0 0 2 2 1 6 2 2 1 3
9340 R [ZHTR 4 3 5 2 3 3 10 8 4 6
9999 R[GHXET 7 7 10 5 9 11 16 13 6 13
9410 RETT & 3 2 6 3 4 6 8 5 11 7
9420 RHETHHE 1 2 2 0 2 2 0 2 2 0
9430 RETFER 0 0 1 2 0 2 1 0 0 2
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 2 0 0 0 0 0 0 0 0
9460 RET{—_HE 0 0 1 0 0 0 0 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 0 0 0 0 0 1 0 0 1 0
9999 RIXXEt 4 6 10 5 6 11 9 7 14 9
99999 &t 1029 1059 1078 1168 1181 1231 1264 1322 1281 1308



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

10 HAT 2 0 4 3 3 7 7 2 5 3
20 fE&LET 6 3 3 6 6 4 4 0 4 5
30 @M 2 4 4 5 4 5 4 4 5 5
40 SRET 0 2 2 2 2 1 4 5 3 4
50 KET—T B 1 1 4 3 4 0 4 6 5 8
60 KET=TH 3 8 9 5 7 6 5 8 4 7
70 RET=TH 5 3 4 4 10 6 10 4 5 7
80 AT IEHET 0 3 2 2 1 4 2 3 0 3
90 PN I ET 2 2 0 3 7 4 3 5 8 0
100 b ALET 3 4 2 3 5 1 4 7 2 4
110 T HT 33 27 24 35 32 46 44 37 37 43
120 ¥A;TAHT 7 5 7 10 6 7 6 8 12 5
130 #&FHT 6 6 8 8 9 10 17 5 19 12
140 EH[E M7 0 0 0 0 1 1 0 0 0 1
150 1 FFrHET 9 13 9 12 9 9 9 11 9 10
9999 KB XEt 79 81 82 101 106 111 123 105 118 117
510 AETHT B 9 8 13 9 14 6 11 11 11 7
520 HpEEMT 8 2 0 4 4 2 8 8 5 7
530 J\It&HET 4 1 8 6 7 2 6 5 6 6
540 15 HT 10 9 5 15 9 16 6 10 16 20
550 FithET 7 9 5 5 8 9 14 10 10 11
560 = ZLHT 2 1 4 0 1 5 1 2 0 1
570 EEHT 3 1 0 2 3 2 1 1 1 4
580 #rBHET 4 6 2 4 1 3 3 8 6 1
590 FriEMT 1 0 2 1 0 0 0 1 0 1
600 ZEARET 10 10 16 18 10 13 13 12 15 12
610 FHT 3 3 5 5 6 1 7 4 2 5
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 1 0 0 0 0 0 2 0 0 0
9999 J\ KXt 62 50 60 69 63 59 72 72 72 75
1010 R HT 9 4 4 2 3 1 6 5 5 8
1020 Lt FHT 6 7 10 12 8 14 9 4 12 3
1030 5 FHT 5 8 16 15 15 11 9 8 10 10
1040 75 K HT 14 8 14 13 11 6 5 13 18 7
1050 = HHET 18 14 11 24 19 18 17 10 24 16
1060 FH _EHT 19 17 17 15 15 16 13 13 18 12
1070 4T/ HET 12 15 19 16 19 7 16 18 11 14
1080 & HHET 12 6 8 8 5 18 6 13 9 10
1090 BHiEHT 13 13 9 12 17 17 15 18 11 13
1100 L BiEHT 14 16 15 14 12 20 21 16 11 16
1110 f21EHT 1 6 4 2 4 3 5 7 2 3
1120 #Z1E JCHT 1 1 1 1 3 0 1 1 1 3
1130 +4<HT 0 0 0 0 2 0 2 0 0 0
1140 Fk[RHET 0 1 0 0 0 0 0 0 0 0
1150 #/RET—T B 5 2 4 5 2 4 2 7 5 2
1160 #EET=TH 5 8 5 3 3 5 5 3 7 6
1170 ;B/KHET 4 2 3 10 5 2 3 4 5 4
1180 EE&FLHET 0 2 7 6 5 3 3 9 5 5
1190 1 F AHT 5 1 6 4 5 4 2 6 11 1
1200 XFHET—TH 3 2 2 3 4 2 4 1 4 3
1210 XFHEIZTH 4 2 5 3 4 4 9 4 2 5
1220 FrHT 2 6 1 2 6 3 4 2 5 8
1230 #xKHET 3 3 5 5 3 2 4 4 3 3
1240 B EHT 1 3 4 3 3 1 3 7 5 3



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—FK {TEET (KEFE)R 405 413 42k 43 445 45m 46k 47 48  49%

1250 fEEIRT 6 3 3 3 2 1 2 0 6 4
1260 B & 0 2 0 1 0 0 0 2 1 1
1270 EEHT 3 2 4 2 2 4 8 7 1 3
1280 FRAHET 2 5 3 3 8 3 5 2 2 10
1290 $RHET 6 3 5 5 1 8 6 9 3 2
1300 & EEHT 6 2 1 5 2 2 6 2 1 2
1310 R/ HT 0 2 1 2 1 3 1 0 3 2
9999 XH M XET 179 166 187 199 189 182 192 195 201 179
1510 A& _E BT 12 16 20 23 25 14 21 17 21 19

1520 HEHTHET 14 17 13 21 14 20 22 21 21 15
1530 HEHITHET 3 3 6 5 7 8 10 7 8 15
1540 K4EFHT 7 10 15 11 12 10 11 15 17 16
9999 FEMNA: X 5 36 46 54 60 58 52 64 60 67 65
2010 EE AT 5 3 6 9 6 6 6 5 2 3
2020 % E gl 6 4 4 9 10 11 5 8 16 8
2030 E0HT 0 0 0 0 0 0 0 2 1 0
2040 ;ET—T H 4 2 3 4 3 4 9 5 3 9
2050 BT =T B 6 4 6 3 3 2 7 3 7 4
2060 ¥g AT 1 0 3 0 3 1 3 0 1 0
2070 FxEBT—TH 7 4 9 8 4 2 4 2 4 7
2080 FRET—TH 3 3 4 5 6 3 4 3 9 5
2090 THiRAT 62 41 30 29 42 47 36 50 35 44
2100 fhdLHT 8 8 10 12 9 11 6 6 7 6
2110 }EWIETET—T B 4 7 4 8 6 5 8 8 5 5
2120 HEMIFTETZT B 8 8 10 9 13 6 7 6 8 4
9999 £ ERXET 114 84 89 96 105 98 95 98 98 95
2510 FAMEET 58 65 60 73 59 65 84 60 71 56
2520 sk EeHT 38 38 43 40 46 38 46 27 40 40
2530 = /INRHET 7 9 12 4 7 6 2 12 10 11
2540 FHi5HT 10 5 8 10 8 8 7 7 8 13
2550 ;HHET 4 4 2 4 6 6 7 5 0 5
2560 = SHT 26 18 15 22 21 27 25 31 25 21
2570 X &HT 2 2 2 7 4 1 2 2 2 2
9999 ME R X ET 145 141 142 160 151 151 173 144 156 148
3010 K#THT 29 25 29 22 30 29 28 33 27 26
3020 gt ;IHT 24 22 12 24 21 35 24 31 40 24
3030 L EFHT 16 14 19 19 28 23 25 17 25 30
3040 &S _LHET 1 0 1 4 4 2 4 4 5 1
3050 THESHHT 67 63 53 53 41 70 69 70 68 65
3060 B THT 15 6 11 6 14 6 8 9 11 10
3070 HEAEAT 14 7 17 5 10 14 15 12 13 10
3080 H AT 13 11 11 12 11 11 8 16 13 16
3090 HHEHT 14 12 15 16 14 10 15 11 10 13
3100 EH R FEHET 10 12 9 6 15 14 14 16 12 15
3110 EHeRILHET 12 6 11 11 11 10 12 15 12 9
9999 /\FHERXET 215 178 188 178 199 224 222 234 236 219
3510 £[R AT 1 1 2 4 1 1 6 6 6 6
3520 £ R chfT 7 3 6 5 9 2 12 7 9 8
3530 27 THT 31 29 20 22 17 14 25 30 23 30
3540 =B KHT 4 9 9 7 10 15 7 9 12 15
3550 AEFHT 15 21 23 24 23 26 18 17 24 17
3560 = T B HET 6 7 6 3 9 4 3 11 11 8
3570 & T AafT 16 19 14 15 12 14 17 17 20 20

3580 ¢ LLITHT 13 17 8 8 12 15 21 13 14 14
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(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

3590 JEMT 0 0 0 0 0 0 0 0 1 0
9999 S HKXE 93 106 88 88 93 91 109 110 120 118
4010 41| RET 8 3 7 4 3 8 6 10 4 14
4020 {E&HT 1 0 0 1 1 1 1 3 1 2
4030 5HT 3 4 2 5 3 9 7 4 10 4
4040 = HEAHT 8 3 5 4 6 3 1 7 5 3
4050 7K EHT 10 15 6 10 10 6 13 11 14 6
4060 E5Z HAT 11 6 10 6 12 8 13 6 5 7
4070 JtJRHET 1 1 1 3 5 3 5 2 2 4
4080 =;T;HAMT 7 3 4 4 6 4 4 4 6 5
4090 FR ek HET 3 1 2 7 7 6 11 8 8 4
4100 g FEFOET 6 7 2 2 1 2 3 3 3 1
4110 JEFF0ET 5 7 2 6 2 5 3 1 3 2
9999 2RI X st 63 50 41 52 56 55 67 59 61 52
4510 EREE—FHET 18 17 15 11 25 18 11 15 22 15
4520 EREE — AT 6 3 8 5 5 2 2 6 6 8
4530 EREE=ZEHT 4 6 5 6 2 2 3 2 3 3
4540 B} EErUZEET 4 6 1 0 0 2 2 3 5 2
4550 EREE FFHT 6 0 0 3 2 4 2 1 3 4
4560 AREE/EHET 3 4 0 2 5 2 2 1 1 2
4570 EREE-HZFHET 1 2 2 1 2 4 7 4 3 3
4580 ERZE/)\ZHEHT 2 1 4 1 2 6 2 3 0 0
4590 EREE N FEHT 4 1 8 3 2 5 2 0 3 1
4600 EREE-+ZEHET 9 6 7 8 2 6 5 2 4 0
4610 EREE+—ZHT 3 3 2 7 2 4 1 6 1 4
4620 B+ —FET 4 4 3 3 1 3 3 2 8 4
9999 ERERXET 64 53 55 50 50 58 42 45 59 46
5010 BRF0H £ HT 4 2 5 5 5 9 2 3 5 4
5020 FAFNBAELET 2 4 4 2 6 3 3 6 5 8
5030 FRFNREI{—HT 3 5 4 4 3 4 3 5 3 2
9999 RRFIRXET 9 11 13 11 14 16 8 14 13 14
5510 b RHET 2 4 4 3 1 6 3 3 9 5
5520 = AT 20 9 16 16 21 27 24 18 12 16
5530 75 = /T 12 10 9 9 10 13 14 14 12 15
5540 wy ZEmT 6 7 3 6 5 5 5 7 4 4
5550 EEHET 1 2 3 2 0 1 0 0 2 0
9999 =R X 5t 41 32 35 36 37 52 46 42 39 40
6010 [EIHAT/MER 1 4 0 4 1 3 0 3 4 4
6020 [T 4 1 1 4 0 3 3 1 1 2
6030 [EET &I 2 1 1 2 3 0 2 3 0 1
6040 EiEIFHET 3 5 6 3 6 6 2 3 4 7
6050 JI|ABTE 3 2 1 3 2 2 2 0 2 3
6060 JI|EHETF 3 1 2 4 2 2 1 2 4 2
9999 FEEMRXET 16 14 11 20 14 16 10 12 15 19
6510 H X A#EAHT 1 0 0 0 0 0 0 1 0 0
6520 H & A KIEHET 6 1 2 5 7 7 3 2 4 5
6530 B E AFTHHET 0 2 2 1 1 0 2 2 5 1
6540 HZEALLTHET 3 2 4 2 4 5 2 5 4 1
6550 B E A Z NET 3 1 1 4 1 5 2 2 1 0
6560 HRAIEILHET 2 4 6 3 2 4 2 2 2 2
6570 A=A EgHT 1 2 0 3 0 3 4 0 3 3
6580 H&EAEHT 0 1 2 0 2 2 1 1 1 0
6590 HZ= ATHET 0 0 0 1 0 0 0 1 1 1
6600 B &= AT 2 3 1 1 1 2 1 1 1 2
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THRET(KF)3—F {THRET(KF) & 405
6610 HEA _LFEHT
6620 HZE AT
6630 HZE AT FGHET
6640 HZEA EitHr
6650 B ZASHET
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7010 Z— R;M O/
7020 — R AHT
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8042 IR AHTELIRA
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8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
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(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

9210 $EHET = H 6 6 8 4 13 15 10 5 11 10
9220 SxETHH 8 12 8 16 12 16 13 15 11 19
9230 $EHTE M 8 29 20 18 17 9 10 8 18 18
9240 $EHETIEE 3 5 4 6 6 7 5 5 4 4
9250 % HT At #r b 17 16 13 8 13 16 8 14 10 12
9999 S XET 147 169 166 152 160 186 132 163 180 160
9310 E[FHET:AR 2 2 5 3 5 3 3 5 2 6
9320 H[SHETIL 2 5 5 3 3 2 4 7 7 4
9330 H[SHET/INE 2 2 1 1 1 3 4 4 1 3
9340 R [ZHTR 7 6 9 5 8 5 6 8 7 5
9999 R[GHXET 13 15 20 12 17 13 17 24 17 18
9410 RET T & 4 2 7 10 5 14 5 9 5 5
9420 RHETHHE 2 4 3 1 1 4 0 2 5 3
9430 RETFER 0 0 0 1 2 2 1 0 2 0
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 0 0 1 0 1 0 0 0 0
9460 RET{—_HE 0 1 0 1 0 0 1 1 0 1
9470 RETEXR 0 1 0 0 0 0 0 0 0 0
9480 RHETHER 0 2 1 0 1 0 1 0 1 5
9999 RIXXEt 6 10 11 14 9 21 8 12 13 14
99999 &t 1416 1315 1390 1418 1443 1528 1536 1524 1635 1535



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

10 HAT 0 3 9 7 2 5 7 5 7 5
20 fE&LET 3 7 1 4 5 2 6 3 3 3
30 @M 6 7 10 4 5 2 3 6 3 7
40 SRET 4 2 0 3 3 0 3 0 1 3
50 KET—T B 8 8 10 6 6 4 2 6 9 5
60 KET=TH 3 8 6 10 1 3 4 3 6 2
70 RET=TH 9 7 15 9 15 7 8 17 8 9
80 AT IEHET 3 3 2 4 1 3 4 3 3 5
90 PN I ET 1 2 7 3 4 3 8 8 2 8
100 b ALET 3 7 5 7 1 2 5 1 4 3
110 T HT 31 36 33 34 39 26 31 36 30 27
120 ¥A;TAHT 12 5 2 5 4 7 6 3 3 4
130 #&FHT 14 10 11 13 9 5 16 9 8 8
140 EH[E M7 1 0 0 1 0 0 0 0 0 0
150 1 FFrHET 15 10 4 8 14 5 9 11 9 6
9999 KB XEt 113 115 115 118 109 74 112 111 96 95
510 AETHT B 10 11 7 12 6 6 7 6 10 4
520 HpEEMT 5 6 3 2 3 2 1 2 3 1
530 /\F&EHET 4 5 0 4 5 5 5 5 6 7
540 15 HT 13 7 14 14 14 14 15 13 16 14
550 FithET 18 10 14 13 13 4 17 10 10 5
560 = ZLHT 1 3 1 2 4 1 3 2 2 2
570 & EHT 2 1 2 1 0 0 2 0 2 2
580 HrhHET 5 1 1 0 1 2 5 4 1 5
590 #7;EHT 1 2 2 2 3 1 1 1 1 2
600 ZEARET 15 16 15 11 17 15 16 12 16 20
610 JEHT 5 1 1 5 2 1 2 9 2 3
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 1 0 1 1 0 0 0 0 0
9999 J\ KXt 79 64 60 67 69 51 74 64 69 65
1010 R HT 4 3 9 11 7 2 3 6 7 10
1020 Lt FHT 12 9 6 7 6 7 9 7 7 8
1030 b HT 8 3 3 8 6 8 4 6 3 14
1040 75 K HT 14 5 11 7 11 13 15 14 19 22
1050 = HHET 16 17 23 25 17 13 17 11 14 25
1060 FH _EHT 12 19 19 13 14 14 24 14 10 13
1070 A7 R HET 14 22 17 16 15 19 14 15 9 13
1080 & HHET 15 15 13 19 14 11 8 14 24 10
1090 BHiEHT 16 19 11 12 18 14 17 10 10 14
1100 L BiEHT 14 16 10 11 15 10 15 9 11 17
1110 f21EHT 7 4 5 3 2 1 0 3 5 5
1120 #Z1E JCHT 2 0 2 3 1 0 0 2 3 1
1130 +5&HT 2 0 0 1 0 0 0 0 0 0
1140 Fk[RHET 1 0 2 0 0 0 0 0 1 0
1150 #/RET—T B 4 5 3 6 4 7 4 7 3 8
1160 #EET=TH 5 6 6 5 5 6 6 7 10 9
1170 ;B/KHET 3 4 4 10 5 0 7 5 2 4
1180 EE&FLHET 7 2 8 6 7 1 8 6 1 10
1190 1 F AHT 5 7 4 2 9 5 3 3 2 1
1200 XFHET—TH 6 5 3 2 8 2 2 7 0 3
1210 XFHEIZTH 2 3 2 0 5 5 5 5 9 3
1220 FrHT 4 2 7 3 3 4 3 8 3 2
1230 #XHET 4 2 3 8 6 0 4 10 6 5
1240 B EHT 3 7 3 2 2 4 3 4 2 6



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1250 fEEHET 7 1 3 3 4 5 0 5 5 7
1260 B & 0 0 1 0 0 0 1 0 4 0
1270 EEHT 4 2 1 2 3 3 0 4 2 6
1280 FRAHET 10 3 3 4 4 1 4 6 3 7
1290 $RHT 3 6 6 2 7 2 5 5 6 2
1300 & EEHT 4 2 3 1 3 3 4 7 4 4
1310 RILGHET 2 2 1 3 5 2 2 2 2 3
9999 K HEMRXET 210 191 192 195 206 162 187 202 187 232
1510 A& _E BT 16 15 27 10 16 12 26 30 16 14
1520 HEHTHET 19 21 16 20 17 14 20 14 13 14
1530 }EHTHT 5 2 3 9 8 7 9 8 10 4
1540 K4EFHT 11 12 16 17 14 7 11 12 21 9
9999 FEMNA: X 5 51 50 62 56 55 40 66 64 60 41
2010 EE AT 4 9 6 6 10 5 5 2 5 3
2020 % E gl 10 8 7 7 9 6 8 3 6 7
2030 E0HT 0 0 1 0 0 0 0 0 0 1
2040 ;ET—T H 4 13 7 5 4 3 7 10 4 6
2050 BT =T B 2 6 7 3 10 5 7 3 4 0
2060 ¥g AT 0 1 0 1 0 0 2 0 0 1
2070 FxEBT—TH 8 7 4 11 5 7 5 8 6 5
2080 FRET—TH 6 2 9 6 6 6 2 6 3 5
2090 THiRAT 47 45 30 41 35 33 35 39 32 37
2100 Hr it ET 6 6 9 5 3 4 4 5 9 5
2110 }EWIETET—T B 6 5 4 13 8 5 11 8 8 10
2120 HEMIFTETZT B 9 17 5 6 6 6 5 6 11 8
9999 £ ERXET 102 119 89 104 96 80 91 90 88 88
2510 FAMEET 81 49 51 49 64 37 42 55 45 54
2520 sk EeHT 38 31 38 56 50 35 39 37 34 39
2530 = /INRHET 11 11 12 12 16 8 14 8 6 12
2540 FHi5HT 12 7 15 10 9 9 12 13 13 13
2550 ;HHET 7 2 2 5 8 11 4 6 8 2
2560 = SHT 33 21 24 21 21 25 24 25 17 16
2570 K EH/T 0 1 3 0 3 0 0 2 0 0
9999 ME R X ET 182 122 145 153 171 125 135 146 123 136
3010 X#FHET 17 23 23 25 24 25 19 28 21 23
3020 ;BT HT 35 23 25 30 35 19 33 17 26 27
3030 L EFHT 37 21 22 22 26 25 26 24 28 16
3040 &S _LHET 4 7 6 4 9 3 2 3 5 2
3050 R AT 60 55 50 61 66 53 62 65 60 44
3060 BN THET 8 19 10 13 9 14 18 9 11 16
3070 wERERT 11 11 20 14 7 9 15 11 14 8
3080 H AT 9 12 6 12 10 6 7 9 8 13
3090 HHEHT 9 11 11 6 14 6 8 7 4 13
3100 EH R FEHET 17 15 7 11 14 16 10 13 18 14
3110 EHeRILHET 9 10 7 10 12 8 16 8 16 13
9999 /\FHERXET 216 207 187 208 226 184 216 194 211 189
3510 27 _FHT 1 0 2 3 7 4 4 13 11 7
3520 &R T 10 14 11 6 15 4 11 8 8 8
3530 27 THT 30 37 30 19 23 21 23 21 32 33
3540 =B KHT 7 11 10 8 19 2 12 17 5 13
3550 AEFHT 15 13 13 18 16 27 22 18 19 20
3560 = T B HET 7 4 8 5 5 10 5 1 4 8
3570 = T AT 22 25 18 15 31 18 15 19 18 11

3580 ¢ LLITHT 16 9 21 11 12 16 12 14 14 8



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

TRET (K a—FK THRET(KF)& 50 51 52 53mk 54k 55 56 57 58 59
3590 ;EHT 0 0 0
9999 S HKXE 108 11 85 104
4010 41| NHET 10 7
4020 {E&HT 3 3
4030 5HT 9
4040 = HEAHT 12
4050 7K EHT 14
4060 E5Z HAT 12
4070 JtJRHET 3
4080 =;I;HAfT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 AREE+ —ZBHET
9999 ERERXET
5010 BRF0H £ HT
5020 FAF0BAEET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET
5530 F4'= HT
5540 wy ZEmT
5550 EEHET
9999 =R X 5t
6010 [EHT/NEE
6020 [EHT 4
6030 FEBTA I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 FEERXET 1
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
6590 HZ= ATHET
6600 HZA T
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KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

TRET (K a—FK THRET(KF)& 50 51 52 53mk 54k 55 56 57 58 59
6610 HEA _LFEHT
6620 HZE AT
6630 HZE AT FGHET
6640 B &= A EitslT
6650 B ZASHET
6660 HZ A RLHET

9999 HEAKKET 2 2 1 3 2 2 2 2 3 3
7010 Z— R;M O/

7020 — R AHT
7030 = R FR#AHET
7040 — BT KEFHET
7050 — R ¥y H I HET
9999 — R&XEt 1
8011 IRAETFEHERLY
8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT
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8150 IR AHBTEFRK L 1 2 3 2

9999 AKX 5T 22 27 25 2 27 22 40 30 25 49
9010 +THTAKEH 14 17 18 7 13 13 14 24 11 24
9020 FTHTEEH 8 13 12 12 9 7 9 11 11 7
9030 +THTH & H 33 18 27 24 34 20 23 29 33 24
9040 FTHTHEIH 35 34 41 38 42 30 33 37 37 35
9999 FT#XEt 90 82 98 81 98 70 79 101 92 90
9110 SRETTTH & 14 19 17 17 16 9 11 15 16 18
9120 SFETH L 6 1 6 5 4 9 6 11 6 4
9130 SFETH S 2 5 4 1 7 4 5 1 6 5
9140 $RAT T4 13 8 11 5 9 10 11 10 7 17
9150 $EHT L 45 15 11 11 16 12 15 7 10 9 12
9160 SRETERHT 15 21 9 18 28 17 19 22 20 14
9170 $RATNEA 23 22 21 19 14 17 26 23 30 20
9180 #RHTEE 9 16 17 7 15 14 15 14 15 17
9190 fRHETZ 0O 3 5 2 2 5 7 5 3 2 1
9200 i ET Fr il 4 4 2 6 5 6 7 5 4 8



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

9210 $EHET = H 11 8 10 15 14 10 7 8 9 5
9220 $EHT 7 H 12 12 12 17 13 13 14 18 15 17
9230 $EHTE M 18 9 12 13 19 12 15 20 18 19
9240 $EHETIEE 3 5 8 7 8 6 7 11 11 11
9250 % HT At #r b 14 13 8 14 11 7 10 18 14 17
9999 S XET 162 159 150 162 180 156 165 189 182 185
9310 E[FHET:AR 6 3 1 2 3 6 4 3 5 10
9320 H[SHETIL 5 5 7 2 7 3 7 10 7 8
9330 FH[SAT/INE 1 1 4 5 3 2 2 8 3 2
9340 R [ZHTR 5 10 6 5 13 10 12 22 10 17
9999 R[GHXET 17 19 18 14 26 21 25 43 25 37
9410 RET T & 7 5 8 5 7 12 11 10 9 14
9420 RHETHHE 2 4 6 5 5 2 3 6 6 5
9430 RETFER 3 5 2 3 6 3 4 1 4 4
9440 RETAEF 0 0 0 0 1 0 1 0 1 1
9450 RHETHER 0 0 0 0 0 0 2 0 0 1
9460 RET{—_HE 1 0 0 0 0 1 2 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 1 0
9480 RHETHER 1 2 0 4 0 1 1 4 4 1
9999 RIXXEt 14 16 16 17 19 19 24 21 25 26

99999 H&&Et 1584 1502 1478 1505 1650 1310 1534 1609 1544 1620



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

10 HAT 2 5 5 4 3 5 1 4 3 4
20 fE&LET 2 4 3 6 4 6 4 6 8 6
30 @M 1 6 5 10 5 3 3 4 6 5
40 SRET 2 3 0 3 3 2 2 7 3 5
50 KET—T B 6 9 4 5 9 13 5 5 7 8
60 KET=TH 5 4 0 3 3 4 7 1 5 6
70 RET=TH 5 9 9 7 4 4 5 6 9 8
80 AT IEHET 1 2 2 0 1 6 3 4 2 2
90 PN I ET 3 6 4 2 6 9 6 8 3 5
100 b ALET 1 9 0 6 1 6 4 5 8 1
110 T HT 24 33 28 29 33 38 32 31 32 43
120 ¥A;TAHT 6 2 3 6 4 9 4 3 6 6
130 t&FHT 9 13 8 4 12 9 9 8 4 14
140 EAEET 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 8 5 9 4 7 7 7 4 6 11
9999 KB XEt 75 110 80 89 95 121 92 96 102 124
510 AETHT B 7 13 12 8 6 12 13 15 14 14
520 HpEEMT 5 6 2 3 4 6 3 2 2 1
530 /\F&EHET 5 6 5 8 6 5 7 5 7 7
540 15 HT 7 11 13 7 7 6 9 11 12 10
550 FithET 9 7 10 14 9 12 12 10 9 14
560 = ZLHT 1 1 0 0 1 3 4 2 2 3
570 & EHT 0 0 0 4 0 3 3 3 3 2
580 #rBHET 4 1 5 3 3 4 2 6 3 5
590 FriEMT 2 1 1 2 0 3 0 1 0 3
600 ZEARET 15 11 23 21 22 24 28 29 22 27
610 &M 5 4 12 5 3 6 7 5 7 2
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 60 61 83 75 61 84 88 89 81 88
1010 R HT 7 5 4 5 7 3 10 3 4 2
1020 Lt FHT 7 7 6 9 7 11 9 10 15 5
1030 b HT 6 8 4 8 10 10 6 12 9 8
1040 75 K HT 19 12 20 11 15 13 21 14 11 13
1050 = HHET 18 13 18 13 14 22 18 16 11 20
1060 FH _EHT 15 13 19 19 14 21 12 16 8 10
1070 4T/ HET 23 19 12 18 18 11 12 17 15 13
1080 & HHET 17 9 7 6 11 11 9 11 14 8
1090 Hi&Hr 18 17 22 15 14 11 19 14 24 28
1100 L BiEHT 11 12 15 19 8 15 15 15 24 16
1110 f21EHT 0 4 3 6 3 3 6 6 3 1
1120 #Z1E JCHT 3 3 4 4 3 4 0 3 2 3
1130 +45:HT 0 1 1 1 1 1 0 2 0 1
1140 Fk[RHET 0 1 0 1 0 0 0 0 0 1
1150 #/RET—T B 4 5 5 4 6 4 8 6 3 3
1160 #EET=TH 8 8 8 6 6 7 6 6 7 7
1170 ;B/KHET 1 3 3 5 3 4 1 4 2 3
1180 EE&FLHET 7 4 7 8 7 3 6 7 3 6
1190 1 F AHT 4 5 5 3 5 7 5 1 8 10
1200 XFHET—TH 3 3 5 1 3 5 1 3 1 7
1210 XFHEIZTH 2 3 5 7 4 9 4 2 2 8
1220 FrHT 4 7 1 1 2 4 7 2 7 5
1230 #XHET 4 6 8 8 5 8 1 1 8 4
1 5 1 4 2 4 2 3 1 2

1240 FEEHT



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1250 TEEMT 2 5 4 3 4 4 4 3 2 2
1260 B & 0 0 3 2 1 3 1 3 1 2
1270 EEHT 6 3 3 2 2 5 3 4 2 4
1280 FRAHET 2 0 2 4 1 4 5 7 4 6
1290 $RHET 3 1 4 4 6 4 5 7 3 8
1300 & EEHT 2 2 5 3 0 4 3 2 2 0
1310 RJLHET 8 3 7 4 2 2 4 3 0 1
9999 XH M XET 205 187 211 204 184 217 203 203 196 207
1510 A& _E BT 14 16 17 23 25 15 18 24 21 14
1520 HEHTHET 27 19 24 12 20 21 22 24 25 17
1530 HEHITHET 8 8 12 9 14 12 11 13 5 14
1540 K4EFHT 8 16 15 14 24 15 14 29 14 22
9999 FEMNA: X 5 57 59 68 58 83 63 65 90 65 67
2010 EE AT 6 6 5 2 1 8 5 2 5 4
2020 % EFGHT 7 4 5 8 6 7 4 10 5 9
2030 E0HT 0 0 0 1 5 2 2 0 0 0
2040 :NET—TH 4 7 4 5 5 4 5 3 2 4
2050 BT =T B 3 7 1 3 4 6 6 3 4 9
2060 ¥g AT 2 2 1 1 3 1 2 3 3 0
2070 FxEBT—TH 3 12 9 10 7 7 7 7 5 10
2080 FRET—TH 8 5 1 3 5 5 9 5 4 7
2090 THiRAT 51 53 30 44 47 57 64 48 64 66
2100 fhdLHT 3 4 6 7 4 4 10 11 6 8
2110 }EWIETET—T B 7 6 6 8 3 4 8 7 8 12
2120 HEMIFTETZT B 3 2 8 11 11 6 12 11 10 10
9999 E B XEt 97 108 76 103 101 111 134 110 116 139
2510 FAMEET 59 49 55 57 57 42 50 47 51 57
2520 sk EeHT 30 32 51 40 39 46 35 33 41 33
2530 = /INRHET 9 18 13 8 8 11 13 14 10 19
2540 FHi5HT 20 9 13 11 18 10 13 11 20 20
2550 ;HHET 2 10 7 6 7 6 12 6 7 7
2560 = SHT 17 20 21 31 20 29 28 33 22 33
2570 K EHT 0 2 2 3 5 0 2 2 1 5
9999 ME R X ET 137 140 162 156 154 144 153 146 152 174
3010 X#FHET 22 27 21 28 17 23 26 33 27 35
3020 ;BT HT 19 19 27 19 24 22 27 20 29 30
3030 L EFHT 20 21 22 19 24 21 21 24 22 20
3040 &S _LHET 2 3 6 3 3 4 7 4 8 6
3050 THESHHT 55 70 63 52 47 69 50 68 48 55
3060 BN THET 9 15 20 16 14 6 16 13 12 15
3070 HEAEAT 8 5 21 11 13 18 17 11 16 18
3080 HHHHT 7 12 9 10 5 6 6 15 5 4
3090 H A E AT 13 8 10 4 7 10 5 8 7 9
3100 EH R FEHET 7 10 11 12 14 16 12 11 20 13
3110 EHeRILHET 7 15 19 19 11 11 14 12 13 13
9999 /\FHERXET 169 205 229 193 179 206 201 219 207 218
3510 27 _FHT 3 7 10 5 2 3 6 3 11 4
3520 &R T 10 9 11 8 12 11 7 14 9 9
3530 27 THT 26 24 32 22 35 32 29 29 30 37
3540 =B KHT 17 14 9 6 10 13 9 12 12 13
3550 AEFHET 25 24 28 29 22 25 33 20 38 27
3560 = T ERAT 17 10 4 5 12 12 17 17 10 16
3570 & T AafT 18 15 15 25 24 25 17 28 25 33

3580 ¢ LLITHT 15 10 15 13 18 17 16 16 18 1



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

3590 JEMT 1 0 0 0 0 0 0 0 0 1
9999 S HKXE 132 113 124 113 135 138 134 139 153 151
4010 41| RET 8 5 6 14 7 10 10 6 10 9
4020 {E&HT 3 2 1 0 4 3 4 1 4 5
4030 5HT 8 5 6 6 1 4 7 5 7 7
4040 = HEAHT 2 7 5 3 3 7 7 7 8 6
4050 7K EHT 13 13 12 10 16 6 15 15 15 18
4060 E5Z HAT 4 6 3 4 9 7 11 9 12 13
4070 JtJRHET 8 6 0 7 9 6 5 3 4 3
4080 =;T;HAMT 8 2 6 9 9 11 7 7 7 8
4090 FR ek HET 9 13 6 14 9 8 7 8 13 15
4100 g FEFOET 5 6 6 7 9 10 17 10 4 8
4110 JEFF0ET 5 9 5 11 13 10 10 12 5 8
9999 2RI X st 73 74 56 85 99 82 100 83 89 100
4510 EREE—FHET 19 25 22 18 21 24 22 38 21 23
4520 EREE — AT 2 4 4 6 5 3 8 6 10 4
4530 EREE=ZEHT 9 6 6 5 7 3 7 4 4 6
4540 AREEUEHET 4 4 4 6 4 4 2 10 3 7
4550 EREE FFHT 3 1 2 1 2 2 7 2 3 4
4560 AREE/EHET 2 1 4 2 3 2 2 3 1 2
4570 EREE-HZFHET 5 6 1 3 4 2 1 2 2 3
4580 ERZE/)\ZHEHT 0 2 4 2 5 2 4 1 2 7
4590 EREE N FEHT 1 0 3 4 3 4 7 4 3 3
4600 EREE-+ZEHET 3 4 5 1 2 3 2 5 3 3
4610 EREE+—ZHT 8 2 3 1 1 7 3 2 6 6
4620 B+ —FET 4 9 7 4 3 2 6 7 12 4
9999 ERERXET 60 64 65 53 60 58 71 84 70 72
5010 BRF0H £ HT 8 6 6 3 3 4 5 4 6 10
5020 FAF0BAEET 7 3 4 3 2 1 6 7 4 4
5030 FRFNREI{—HT 7 3 9 8 5 4 3 7 4 8
9999 AFIAXET 22 12 19 14 10 9 14 18 14 22
5510 b RHET 4 10 4 4 12 5 5 15 16 8
5520 = HhHET 1 17 16 14 17 24 15 15 14 13
5530 75 = /T 13 8 15 13 15 15 15 14 8 22
5540 wy ZEmT 10 10 6 9 3 6 10 10 18 14
5550 EEHET 2 3 4 3 4 2 2 4 4 1
9999 =R X 5t 40 48 45 43 51 52 47 58 60 58
6010 [EIHAT/MER 4 2 4 2 0 1 3 7 4 2
6020 [T 3 8 4 4 6 4 5 1 7 6
6030 [EET &I 3 5 4 3 8 4 2 6 5 3
6040 EAZEIFHT 11 4 7 8 6 4 11 11 9 10
6050 JI|ABTE 4 3 8 6 8 4 9 6 4 7
6060 JI|EHETF 1 2 2 4 2 5 6 6 8 11
9999 FEEMRXET 26 24 29 27 30 22 36 37 37 39
6510 H X A#EAHT 2 1 1 1 2 1 0 2 2 1
6520 HZEAKIEHET 2 2 6 5 7 5 6 11 12 9
6530 B E AFTHHET 5 2 2 8 4 4 6 4 9 6
6540 HZEALLTHET 1 3 1 3 3 2 7 9 6 11
6550 B E A Z NET 2 3 1 3 2 0 4 11 0 6
6560 HRAIEILHET 2 3 2 2 0 6 4 3 4 4
6570 B EALERIHET 4 2 2 5 2 5 2 7 1 7
6580 H&EAEHT 2 4 4 4 2 3 3 8 7 4
6590 HZ= ATHET 1 1 1 2 2 3 1 0 2 1
6600 B &= AT 2 3 0 2 2 5 4 4 1 9
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

6610 HEA _LFEHT 2 0 2
6620 HZE AT 0 2 2
6630 HZEA T FMET 2 7 1
6640 B &= A EitslT 1 2 1
6650 HZASHET 0 0 0
6660 A Zs A I i AT 0 0 2
9999 HEARKKXET 3 3 2 40 2 45 4 6 5 66
7010 Z B MO E 6
7020 — R AHT 1 1 1 15
7030 — R FRHAET 8
7040 — BT KEFHET 1 1 1 14
7050 = 5 %5 M I5ET 3
9999 — R&XEt 2 2 2 2 2 2 3 4 3 46

8011 IRAETFEHERLY
8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L

8140 IRABTHFRKT
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8150 IR AHBTEFRK L 2 4 1 2 5 6
9999 AKX 5T 34 48 56 59 58 54 53 63 56 66
9010 +THTAKEH 14 13 15 25 27 15 20 17 19 16
9020 FTHTHEA 10 12 7 14 9 7 12 12 14 13
9030 +THTH & H 27 35 34 33 32 33 31 40 39 29
9040 FTHIHEHE 37 39 40 45 36 37 38 39 33 43
9999 FT#XEt 88 99 96 117 104 92 101 108 105 101
9110 SRETTTH & 11 9 8 9 14 13 17 12 11 19
9120 SFETH L 4 4 4 7 2 4 13 9 10 6
9130 $EHTH & 6 5 3 9 3 6 8 6 2 3
9140 $RAT T4 17 15 15 12 20 11 18 9 8 13
9150 $EHT L &5 21 12 21 8 12 13 16 15 16 22
9160 SRETERHT 16 21 18 18 14 20 20 22 18 19
9170 $RATNEA 25 27 38 25 22 25 25 20 22 21
9180 #RHTEE 15 13 14 23 17 23 17 28 15 32
9190 $ERTZ O 3 7 4 8 5 9 12 9 6 9
9200 i ET Fr il 13 12 8 4 10 9 6 6 4 6
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

9210 SFET=EH 8 23 10 7 13 10 14 15 13 11
9220 $EHT 7 H 13 15 8 12 13 21 15 19 10 19
9230 $EHTE M 20 25 21 20 22 19 21 19 35 24
9240 $EHETIEE 5 9 10 7 10 8 8 10 15 6
9250 % HT At #r b 15 12 16 17 15 22 16 19 20 20
9999 S XET 192 209 198 186 192 213 226 218 205 230
9310 E[FHET:AR 11 11 5 7 10 9 9 4 11 7
9320 H[SHETIL 6 11 4 11 9 12 10 6 5 12
9330 R[ZHET/INE 4 7 7 7 6 5 11 10 3 9
9340 R [ZHTR 6 10 10 8 12 17 17 19 20 11
9999 WG XET 27 39 26 33 37 43 47 39 39 39
9410 RET T & 7 9 9 14 16 14 12 11 13 14
9420 RHETHHE 6 6 5 7 8 7 7 11 12 15
9430 RETFER 4 4 5 1 3 7 5 5 8 6
9440 RETAEF 1 0 0 0 1 1 1 1 0 0
9450 RHETHER 0 0 1 1 1 1 1 0 0 3
9460 RET{—_HE 1 2 1 1 1 1 2 2 1 1
9470 RETEXR 0 1 0 0 0 0 0 3 0 1
9480 RHETHER 0 1 2 1 0 1 0 1 3 1
9999 RIXXEt 19 23 23 25 30 32 28 34 37 41

99999 H&&Et 1565 1677 1704 1701 1715 1810 1868 1941 1874 2048
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

10 HAT 9 6 5 6 7 0 1 0 1 3
20 fE&LET 5 7 6 3 2 1 4 4 1 5
30 @M 5 9 8 12 8 5 4 4 8 4
40 SRET 2 6 5 6 5 3 3 6 4 4
50 KET—T B 13 13 14 15 15 8 9 3 11 7
60 AET—TH 5 6 6 11 4 3 6 4 6 3
70 RET=TH 6 11 10 9 6 4 6 3 8 10
80 AT IEHET 1 3 2 3 3 4 3 2 0 3
90 FEHATIRAT 5 2 16 7 11 6 6 11 6 4
100 b ALET 7 4 3 3 6 3 4 3 1 4
110 T HT 29 26 42 36 31 25 19 17 15 20
120 ;T AHT 2 6 4 4 6 5 4 2 1 5
130 #&FHT 13 18 7 15 8 10 9 15 11 10
140 EH[E M7 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 10 14 3 7 8 7 5 5 7 3
9999 KB XEt 112 131 131 137 120 84 83 79 80 85
510 AETHT B 22 9 17 8 20 12 10 9 10 17
520 HpEEMT 4 6 3 7 4 3 2 2 5 4
530 J\It&HET 6 6 8 9 6 6 6 2 8 3
540 15 HT 7 14 13 11 17 11 7 5 10 16
550 FithET 7 6 11 12 10 8 5 8 7 11
560 = ZLHT 1 1 1 2 1 0 2 3 2 0
570 & EHT 3 1 3 1 2 1 2 1 3 2
580 ¥TREAET 11 5 4 3 1 2 8 5 5 2
590 FriEMT 4 2 4 3 3 4 1 2 2 2
600 ZEARET 30 17 22 17 15 7 8 12 9 12
610 ZMET 7 6 6 9 4 3 3 5 4 4
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 102 73 92 82 83 57 54 54 65 73
1010 X HT 10 4 11 7 8 7 3 1 5 2
1020 Lt FHT 11 13 9 14 16 4 5 9 6 8
1030 & /T HT 7 8 10 6 6 8 2 7 6 6
1040 75 K HT 16 10 13 14 15 9 7 9 15 10
1050 = HHET 10 18 22 23 16 13 6 11 10 10
1060 FH _EHT 13 13 18 11 13 12 6 9 8 12
1070 4T/ HET 14 16 14 15 19 11 8 13 13 15
1080 & HHET 9 6 12 8 6 9 9 9 4 7
1090 BHiEHT 28 21 25 13 16 13 12 11 18 14
1100 £ BEHT 17 19 21 12 24 11 10 16 15 11
1110 f21EHT 4 2 5 3 4 2 6 6 3 6
1120 #Z1E JCHT 0 5 2 4 2 3 2 2 3 0
1130 +5&HT 0 1 4 1 2 0 0 1 2 1
1140 Fk[RHET 1 0 0 0 0 1 0 4 0 0
1150 #/RET—T B 4 10 10 8 4 6 5 3 5 6
1160 #EET=TH 5 9 10 13 11 2 0 2 7 8
1170 ;& /KHET 5 5 6 6 6 0 2 4 4 8
1180 EE&FLHET 6 11 9 6 4 7 11 9 5 8
1190 ##F AHT 7 4 11 6 10 2 1 7 6 2
1200 XFHET—TH 6 1 5 4 5 0 1 4 1 3
1210 XFHEIZTH 6 9 7 12 3 3 0 6 4 1
1220 FrHT 2 3 1 8 11 2 3 5 2 4
1230 #xKHET 2 7 8 4 4 7 6 3 6 7
1240 B EHT 3 5 3 6 5 2 2 5 3 4



KH2479F RERBRED—HREICLIYNEANZSOH-AA-HTFH
(R4.1.31IRAETEHET R (KF) Al F oI A O EHFR (S5

TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1250 fEEHET 2 4 3 7 5 3 2 1 4 2
1260 B & 0 1 2 3 0 1 2 1 2 0
1270 EEHT 2 3 5 3 3 1 4 3 0 2
1280 FRAHET 10 4 1 7 4 3 2 3 4 2
1290 $RHET 3 1 6 6 9 6 1 10 3 3
1300 & EEHT 3 7 3 7 3 2 4 3 4 2
1310 RJLHET 3 0 0 4 2 2 2 3 3 1
9999 K HEMRXET 209 220 256 241 236 152 124 180 171 165
1510 A& _E BT 18 29 20 23 22 13 11 18 24 22
1520 HEHTHET 28 33 23 30 24 21 19 20 18 21
1530 }EHTHT 7 6 11 10 17 11 7 12 11 6
1540 K4EFHT 19 12 20 23 24 10 14 14 10 10
9999 FEMNA: X 5 72 80 74 86 87 55 51 64 63 59
2010 EE AT 3 4 10 12 7 5 3 1 9 4
2020 %= EFGHET 4 6 1 6 5 6 1 8 1 6
2030 AT 0 1 5 4 1 1 0 0 0 2
2040 :NET—TH 9 7 7 11 8 5 5 5 2 6
2050 BT =T B 4 10 8 6 7 8 7 7 7 6
2060 gt ET 2 1 2 5 2 1 0 1 1 2
2070 FxEBT—TH 7 6 12 8 6 9 1 5 7 6
2080 +RETZTH 4 6 5 7 8 8 6 4 7 3
2090 AT 64 51 73 66 68 43 35 43 64 37
2100 dr it AT 5 3 13 10 7 3 1 2 3 4
2110 }EWIETET—T B 9 8 7 12 8 5 4 5 7 7

2120 HEMIFTETZT B
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9999 E B XEt 117 117 151 153 136 105 68 84 117 87
2510 FAMEET 50 64 62 75 63 43 31 57 35 49
2520 sk EeHT 34 46 39 48 34 23 18 14 19 19
2530 = /INRHET 9 12 14 11 12 4 5 3 2 6
2540 FHi5HT 21 15 24 16 24 20 12 13 12 16
2550 ;HHET 9 7 5 8 6 4 5 6 9 5
2560 = SHT 29 36 47 37 36 29 19 21 20 23
2570 K EHT 4 3 6 9 3 3 1 2 2 1
9999 ME R X ET 156 183 197 204 178 126 91 116 99 119
3010 X#FHET 30 28 32 43 32 23 18 32 19 24
3020 ;BT HT 32 25 35 37 39 28 11 23 12 15
3030 L EFHT 21 17 17 27 25 11 13 16 14 18
3040 &S _LHET 3 0 6 2 3 5 2 6 4 5
3050 B AT 47 62 81 69 64 37 22 38 46 35
3060 B THT 9 25 14 14 20 11 10 17 20 18
3070 HEAEAT 17 22 15 11 15 11 13 16 10 11
3080 H AT 9 15 15 12 14 6 5 6 6 11
3090 HHRERHAT 12 13 15 4 7 4 7 9 8 12
3100 EH R FEHET 11 13 11 13 6 9 11 8 5 5
3110 EHeRILHET 17 18 20 22 17 10 8 11 12 17
9999 /\FHERXET 208 238 261 254 242 155 120 182 156 171
3510 27 _FHT 9 9 7 9 6 6 2 3 6 4
3520 £ R chfT 4 13 22 18 12 10 11 14 9 14
3530 &R THT 29 37 30 40 18 19 22 16 20 16
3540 =B KHT 12 16 21 19 11 15 8 4 7 12
3550 AEFHT 21 26 30 36 31 18 17 17 23 17
3560 = T B HET 9 11 12 8 8 12 7 2 9 5
3570 & T AafT 23 32 41 39 33 19 19 21 23 22

3580 ¢ LLITHT 15 21 24 24 19 16 6 12 15 8
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6010 [EHT/NEE

6020 [EHT 4

6030 FEBTA I

6040 i3 JFMET

6050 JI|EHATE

6060 JI| AT 7

9999 FEERXET 2
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
6590 HZ= ATHET
6600 B &= AT
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3590 ;EHT 1 1 0 0 4 0 0 0 0 0
9999 S HKXE 123 166 187 193 142 115 92 89 112 98
4010 41| RET 12 18 19 17 13 16 9 18 8 6
4020 {E&HT 2 3 3 6 3 2 3 2 4 3
4030 5HT 16 10 8 15 9 7 2 2 6 7
4040 = HEAHT 8 4 6 6 9 6 1 1 6 6
4050 7K EHT 21 22 10 19 13 11 5 8 9 8
4060 E5Z HAT 9 11 9 11 12 13 9 7 12 9
4070 JtJRHET 3 4 5 10 8 4 3 3 3 2
4080 =;T;HAMT 9 9 6 3 8 5 4 5 6 2
4090 55 ELET 7 10 11 12 11 15 6 8 4 9
4100 g FEFOET 3 3 5 2 9 2 2 2 0 2
4110 JtEFnET 1 8 5 8 9 2 1 2 2 1
9999 2RI X st 91 102 87 109 104 83 45 58 60 55
4510 EREE—FHET 32 29 30 20 27 18 12 25 25 23
4520 EREE — AT 7 7 8 5 2 4 4 4 2 5
4530 EREE=ZEHT 8 6 7 6 3 1 1 5 4
4540 B} EErUZEET 4 3 7 3 4 2 3 3 6
4550 EREE FFHT 2 1 3 2 1 2 5 2 1
4560 AREE/EHET 2 1 1 1 1 1 0 3 2
4570 EREE-HZFHET 5 7 6 11 8 1 3 0 3
4580 ERZE/)\ZHEHT 3 4 7 1 3 3 0 0 0
4590 EREE N FEHT 4 4 2 3 1 2 1 4 0
4600 EREE-+ZEHET 0 2 1 2 1 0 3 1 1
4610 EREE+—ZHT 1 2 6 1 3 3 0 3 3
4620 B+ —FET 9 6 8 9 5 4 4 3 4
9999 ERERXET 77 7 74 73 68 52 35 49 51 52
5010 BRF0H £ HT 7 3 6 11 5 1 5 6 7
5020 AR F0BAHET 10 7 4 3 3 5 1 3 4
5030 FRFNREI{—HT 3 6 4 6 1 4 0 4 6
9999 AFIAXET 20 2 16 14 20 9 10 6 13 17
5510 b RHET 9 7 5 12 4 9 4 6 4
5520 = AT 23 2 29 21 30 12 14 13 18 16
5530 75 = /T 19 1 15 17 13 21 4 17 11 11
5540 THEHRT 13 15 4 9 9 7 11 5 9
5550 EEHET 2 3 3 4 2 3 1
9999 =R X 5t 67 5 74 49 67 49 38 47 43 41
1 4 3
0 1 1
0 1 2
7 6 3
3 6 7
2 4 1
3 2 7
0 0 0
4 8 4
4 1 2
0 4 9
0 0 2
2 6 6
4 8 6
1 3 4
3 2 2
1 1 5
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6610 HEA _LFEHT 3 3 1

6620 HZE AT 4 2 2
6630 HZEA T FMET 5 1 4
6640 B &= A EitslT 1 0 3
6650 HZASHET 0 0 0
6660 HZ A T iHET 2 1 1

9999 HEARKKXET 5 6 65 58 5 5 40 5 5 4
7010 Z B MO E 12 17 1
7020 — R AHT 1 7 12

7030 = R IRHNET 5 2
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7050 — R ¥y H I ET 8
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8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT
8150 IR AHBTEFRK L
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9999 IRAKXET 74 83 71 87 72 44 26 65 49 61
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9030 FTHT#FHAEH
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9040 FTHTHEIH 39 32 40 47 41 31 23 41 28 33
9999 FT#XEt 117 106 119 121 102 70 53 99 78 83
9110 SRETTTH & 22 19 18 19 21 15 16 17 19 14
9120 SFETH L 10 11 14 7 9 5 5 8 6 6
9130 SFETH S 5 5 7 3 4 6 2 5 12 3
9140 $RAT T4 29 16 23 15 22 9 4 18 9 3
9150 $EHT L &5 15 15 26 13 20 14 14 11 14 9
9160 SRETERHT 30 13 26 30 33 18 21 23 21 15
9170 $RATNEA 32 31 22 36 33 26 14 24 27 25
9180 #RHTEE 16 19 21 21 19 17 15 15 19 13
9190 $ERTZ O 6 11 7 13 8 5 4 5 3 8

9200 $EHTEFIF 8 13 8 12 3 3 6 6 4 6
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9210 $EHET = H 15 9 22 13 7 8 4 12 9 6
9220 $EHT 7 H 20 13 25 19 15 11 9 8 14 23
9230 $EHTE M 21 23 33 24 26 15 11 19 14 13
9240 $EHETIEE 6 7 9 5 8 3 5 8 6 7
9250 % HT At #r b 15 14 9 16 14 11 3 9 8 8
9999 S XET 250 219 270 246 242 166 133 188 185 159
9310 E[FHET:AR 7 5 11 6 12 2 5 6 7 5
9320 H[SHETIL 6 11 15 7 12 8 7 7 7 3
9330 FH[SAT/INE 9 6 6 3 1 3 6 6 3 8
9340 R [ZHTR 11 24 12 9 13 7 9 11 5 12
9999 WG XET 33 46 44 25 38 20 27 30 22 28
9410 RET T & 14 14 16 19 13 12 3 15 10 8
9420 RHETHHE 1 8 14 8 10 10 7 12 17 5
9430 RETFER 3 7 5 12 6 11 1 7 7 10
9440 RETAEF 0 0 0 1 1 0 1 0 0 1
9450 RHETHER 1 0 2 1 0 0 0 1 0 0
9460 RET{—_HE 2 0 1 4 1 1 1 0 1 1
9470 RETEXR 0 0 1 0 0 0 1 0 0 0
9480 RHETHER 2 2 2 4 6 3 2 0 0 1
9999 RIXXEt 33 31 41 49 37 37 16 35 35 26

99999 H&&Et 1978 2078 2290 2253 2090 1478 1141 1525 1503 1468
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TRET(KF)a—FK {TEET (K=FE)® 807 81/ 82k 83/ 84k 85/ 86k 87m 88k 89

1250 fEEHET 3 7 3 1 4 7 3 2 3 2
1260 B & 3 0 0 2 4 0 2 1 3 0
1270 EEHT 2 1 0 0 2 1 2 0 3 4
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9210 $EHET = H 6 3 1 2 3 0 0 1 0
9220 SxETHH 8 11 4 6 2 4 4 1 1
9230 SXET B M 9 7 2 5 2 2 1 3 1
9240 $EHETIEE 5 0 2 3 0 0 2 2 1
9250 % HT At #r b 7 5 4 1 2 4 1 0 0
9999 S XET 96 82 51 55 38 38 24 20 9
9310 E[FHET:AR 7 4 6 3 3 1 2 0 0
9320 H[SHETIL 2 2 6 0 2 1 3 0 0
9330 FH[SAT/INE 3 4 6 2 1 1 0 1 0
9340 R [ZHTR 5 7 2 1 4 3 1 1 1
9999 WG XET 17 17 20 6 10 6 6 2 1
9410 RETT & 8 10 0 3 2 1 0 2 0
9420 RHETHHE 7 6 7 3 1 3 2 0 2
9430 RETFER 3 0 1 0 1 2 1 0 0
9440 RETAEF 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 2 0 0 0 0 0 0 0
9460 RET{—_HE 0 0 0 0 0 3 2 1 0
9470 RETEXR 1 0 1 0 0 1 0 0 0
9480 RHETHER 0 1 1 1 0 0 2 0 0
9999 RIXXEt 19 19 10 7 4 10 7 3 2
99999 &Rt 733 648 513 429 367 301 213 156 102 6
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10 HAT 1 308
20 fE&LET 0 314
30 @M 2 415
40 LRHET 0 190
50 KET—T B 1 474
60 RET_TH 1 376
70 RET=TH 2 540
80 AT IR AT 1 158
90 PN I ET 0 357
100 b ALET 0 236
110 #3THT 3 2521
120 ¥X;TAHT 0 448
130 #&FHT 0 735
140 L [E[ET 0 19
150 1 FFrHET 1 631
9999 KB XEt 12 7722
510 AETHT B 0 714
520 HpEEMT 0 280
530 /\F&EHET 1 418
540 15 EHT 0 759
550 FithET 0 676
560 = ZLHT 0 143
570 EEHT 0 142
580 HrhHET 0 273
590 #7;EHT 0 114
600 ZEARET 0 1130
610 &M 0 321
620 FEBET—T B 0 2
630 ¥ EBET=TH 0 8
9999 J\ KXt 1 4980
1010 R HHT 0 382
1020 Lt FHT 0 636
1030 b HT 0 659
1040 78 HHET 1 1075
1050 = HHET 1 1334
1060 FH _EHT 0 1165
1070 F7[RHET 1 1256
1080 & HHET 1 861
1090 HEHT 0 1190
1100 L BiEHT 0 1247
1110 f21EHT 0 333
1120 #Z1E JCHT 1 143
1130 +5&HT 0 47
1140 FkJRHET 0 27
1150 #/RET—T B 0 351
1160 F/RETZ=T B 1 420
1170 ;B/KHET 0 305
1180 EE&FLHET 2 437
1190 #&FARHT 0 362
1200 XFHET—TH 0 242
1210 XFHEIZTH 0 303
1220 $FHT 0 276
1230 #xKHET 0 309
1240 B EHT 0 246
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1250 fEEHET 0 255
1260 B & 0 71
1270 EEHT 1 228
1280 FRAHET 0 311
1290 $RHT 0 327
1300 & EEHT 0 264
1310 RILGHET 0 143
9999 KM XET 9 15205
1510 A& _E BT 1 1456
1520 HEHTHET 2 1352
1530 }EHTHT 0 611
1540 K{Z3FHT 2 1044
9999 FEMNA: X 5 5 4463
2010 EE AT 0 390
2020 % EFGHT 1 541
2030 AT 0 40
2040 ;ET—T H 1 405
2050 BT =T B 0 372
2060 #5 AT 0 75
2070 FxEBT—TH 0 499
2080 FRET—TH 1 374
2090 THIELHET 1 3366
2100 hiLHET 0 519
2110 }EWIETET—T B 0 496
2120 HEMIFTETZT B 0 589
9999 £ ERXET 4 7666
2510 FAMEET 2 4409
2520 sk EeHT 1 2807
2530 = /INRHET 2 819
2540 FHi5HT 0 838
2550 ;HHET 1 472
2560 = EHT 1 1846
2570 K EHT 0 161
9999 ME R X ET 7 11352
3010 K#THT 3 2002
3020 ;BT HT 0 1940
3030 _EEFHT 3 1608
3040 &S _LHET 0 271
3050 B AT 4 4762
3060 B THT 1 968
3070 wyESEAT 1 969
3080 HHHHT 2 836
3090 H A E AT 0 849
3100 HhFaHET 0 924
3110 EHAILHET 2 849
9999 /\FHERXET 16 15978
3510 2R LHT 0 357
3520 £ R chfT 0 687
3530 2R THT 1 1978
3540 =B KHT 1 735
3550 AETHT 2 1560
3560 = T ERAT 0 559
3570 = T AT 0 1526
3580 FLIFTHT 0 1080
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3590 JEMT 0 29
9999 S HKXE 4 8511
4010 41| NHET 0 612
4020 {E&HT 2 180
4030 5HT 1 458
4040 = HEAHT 1 433
4050 7K EHfT 0 908
4060 E5Z HAT 2 737
4070 JtJRHET 0 358
4080 =;T;HAMT 0 447
4090 FR ek HET 0 634
4100 g FEFOET 0 293
4110 JtFFOET 0 315
9999 &M XET 6 5375
4510 EREE—ZEHT 1 1446
4520 EREE — AT 1 355
4530 EREE=ZEHT 0 383
4540 B} EErUZEET 2 296
4550 EREE FFHT 1 223
4560 EREENEEHET 0 173
4570 EREE-HZFHET 0 255
4580 ERZE/)\ZHEHT 0 179
4590 EREE N FEHT 0 246
4600 EREE-+ZEHET 0 300
4610 EREE+—ZHT 1 350
4620 EREE+ —FHHT 0 558
9999 ERERXET 6 4764
5010 BRF0H £ HT 0 411
5020 FRFNBHELET 0 354
5030 FRFNREI{—HT 1 414
9999 BRFIMXET 1 1179
5510 b RHET 0 419
5520 = HhHET 1 1235
5530 75 = /T 0 940
5540 THEHRT 2 528
5550 EEHET 0 126
9999 =R X 5t 3 3248
6010 [E]ET/]NER 0 187
6020 [T 0 227
6030 [EET &I 0 189
6040 EiEIFHET 2 422
6050 JI|ABTE 0 298
6060 JI|EHETF 1 239
9999 FEEMRXET 3 1562
6510 B &= A#GHET 0 47
6520 HZEAKIEHET 0 377
6530 B E AFTHHET 0 215
6540 HZEALLTHET 0 333
6550 B E A Z NET 0 160
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6610 HEA _LFEHT 0 83

6620 HZE AT 0 87
6630 HE AT ARAT 0 152
6640 B &= A EitslT 0 66
6650 B ZASHET 0 3
6660 HZ A RLHET 0 52
9999 HEARKKXET 1 2474
7010 Z B MO E 1 315
7020 — RAHT 1 434
7030 = R IRHNET 0 187
7040 — BT KEFHET 2 372
7050 — R ¥y H I HET 1 204
9999 — R&XEt 5 1512
8011 IRAETFEHERLY 0 104
8012 IR AHTFHERA 0 259
8013 YR AHTFEER (& 0 149
8021 IRAHTIZEKLY 0 149
8022 YR AHETIEKA 0 6
8023 IR AHTIEKIL 0 13
8031 YAHETH ALY 0 283
8032 IRAHTHA A 0 14
8033 FAHETH AL 0 33
8041 Y AETHLIRLY 0 100
8042 IR AHTELIRA 0 46
8043 R AHETHELIFIE 0 25
8044 IRARTELIRIZ 0 49
8045 YR ABTELIF T 0 85
8050 i AHTHRA 1 216
8060 IR AHTFT#E 1 204
8070 JRABTER 0 170
8080 Ik AHT &k 0 85
8090 IR AHTHEE 0 71
8100 FABIH /1% 0 25
8110 IRAHTJII 5 0 65
8120 IR AHTER" 1 150
8130 IR AHTH L 0 147
8140 JRABIEEZEXT 0 223
8150 IR AHBTEFRK L 1 150
9999 AKX 5T 4 2821
9010 +THTAKEH 1 1207
9020 FTHTHEA 3 803
9030 +THTH & H 1 2625
9040 FTHIHEHE 1 2740
9999 FT#XEt 6 7375
9110 $RET T HIE 2 1098
9120 SFETH L 0 469
9130 $EHTH & 0 284
9140 SERT T4 1 835
9150 $RHT L§% 0 990
9160 SRETERHT 3 1468
9170 $RETANH 0 1881
9180 #RHTEE 2 1154
9190 $EHT:Z O 0 449
9200 $EHTEFIF 0 435
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9210 SRET=EH 0 760

9220 SxETHH 4 1162
9230 $EHTE M 2 1386
9240 $EHETIEE 1 518
9250 % HT At #r b 0 1165
9999 S XET 15 14054
9310 E[FHET:AR 1 391
9320 H[SHETIL 2 462
9330 FH[SAT/INE 0 294
9340 R [ZHTR 4 777
9999 WG XET 7 1924
9410 RETT & 2 714
9420 RHETHHE 0 407
9430 RETFER 1 265
9440 RETAEF 0 17
9450 RHETHER 0 34
9460 RET{—_HE 0 57
9470 RETEXR 0 13
9480 RHETHER 0 104
9999 RIXXEt 3 1611
99999 &Rt 118 123776



